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. Full Marks : 60
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OPTION-A
| Prograrnming in Visual Basic/Gambas )
‘ Paper : CSC-HG-4016

GROUP -A ‘
- M- o
‘1. - Answer the following questions : = 1x7=7
wors TRl At st e Tew uml 8
(a) When and who developed Visual
' Basw?
R

| - (b) DSN stands for

ﬁa YL mf g —— ;;
. | e ér? qw W) |
(c) ,What is a list box ? .
- it s R 2 |
@) What is preject .fﬂe ?
' ﬁt@t‘éfﬁﬁﬁ:ﬁw
(e) What is Flexi grid ?
- Rifle R e

S O OGS A R R 2

(Ftll in the blank) o



&

[N
.

() Debugging is the process of getting
an application to work correctly..

( Wnte whether True or False )

R tam B <R AR BN
| R @A (Wﬁﬁ@'ﬁﬂf)‘

() 'VB statements must be placed within
a smgle line.
(Write whether True or False)

| mﬁq%ﬂqqamm@aﬁwa@aaﬁm L
(51 1 it o)

Answer the following questions : 2x4=8

(a) Name the three spec1al values in"
V1sua1 Basics. :

F@q@a @m@ﬁwmwmmr
(b) - What is REM.stater_nent? . |

REM Jfe 2
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() .leferentxate between general
procedure and event procedure

mwmﬁﬁswicw Wmmfaﬂ-
ﬁ#m1 o ‘

. (d) ~What is select case ? Wnte its
: general syntax. :

_azaﬁ'Gﬂiﬁ%?ikmivnma#?mﬁfﬂﬁﬂi%knl

(e) Wr1te the descnptlon and usage of
" the Do-loop statement.

.. Do-loop WWWWWI
| | GROUP B .
“H"h‘ -9
4. ' Answer any three of the. following questions :
n o 10x3—30
‘ﬁﬁT‘ﬁhﬁ1%&#6”1%ﬁﬁvaﬁa?b@aﬁhn° )

(a) Explam any three controls in VB’ to
manipulate data retrieved from tables.

@Wﬁﬁi9ﬁﬂiﬂﬂ<ﬁﬁﬁEﬁﬂﬂﬁﬁﬁﬁ\n3V5?WE$3
- ﬁmﬁﬁhﬁWWW| o
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(b) Implement the VB program to
~ maintain the employee information
‘using MS ACC_ESS and ADODCI1
control (empho, enaine, dept_no, ‘-
salary, HRA, TA, DA and net salary)

MS ACCESS W% ADODC1 control
(empno, ename, dept_no, $alary, HRA,
TA, DA 9% net salary) I3% IR SHINT
B TRANTHI IR VB AN 47 ] -
(¢). Why is ADODC control necessary for
’ database connectlwty?

sﬂaﬁsmﬂammwcﬁmﬁm
;i i F A

(d) Write a VBprogram to ',_plloqess.t'he
grades of a student along with the
form design.. |

- wf ﬁswﬁm IS T 51:« @ ammq |
- 3R VB e B :

3 Pea- 40803 OXC G 5 T RIS 6



(e) Wirte a program to update database
. with the help of VB form. The form
" contaihs the name. of employee, his
_date of birth, total pay, total deductlon
and his home address. '

- . VB fomzmmwmm o
- o Bl | TS WHRR A, (PR TR, T
| W, W T O (96 TR B el o

() Write a VB program.to print .the
- - discount based on the category: -

Category ~ Discount

1  50% on MRP

2 '40% on MRP

3 30% on MRP"

4 20% on MRP .
memﬁﬁaﬁmﬁ%tﬁa‘maﬁ
ﬁaﬁamﬁat , '

ﬂm - 2

1- . 50% €% MRP
2 - 40% e%¥s MRP
3 30% e"¥® MRP
4

20% '6°R MRP
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‘ OPTION-B"
(Information Security and Cyber Laws)
. Paper : CSC-HG-4026 |
GROUP-A
R -
1. Answer the following questions : 1x7=7

(a). Define digital signature.
T%FWTFI T e

| (b) What is IP spooﬁng >

www

(c) — is the art. of determining'
- what is right and wrong and: ther
domg the right thing.

(Fill in the blank)
N
m—ﬁﬁwmmwml. -
| (?n‘é?ér?qwasar)
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(d) A firewall is a secure and trusted
- machine that sits between a pnvate
and public network.

(State whether true or false} .

P T2 <51 TS e Rt ey
R <t Yfesre @iz vl @ wfers AR
. AR Ew
() What is BIOS? | o
BIOS f&?

0: -Whlch protocol is used in ping -
' command ? :
) UDP

(i) TCP.
- (i) ICMP
(iv) .None of the abdvé S
Ping command.® CIINCB! SI'CBFW W W
) BRA
(ii) foibfer
(iii) . R -
(iv) @R AR T2
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' (g) Accessing of  data without havmg
: permission is. called

. (Fillin the blank)
fwﬁmwmmwm

mw','ﬁﬁﬁww
2. Ah'swér the following questions : 2%4=8
woTs fAat eie Tes ol

(a) Distinguish between threats and
-attacks. :

oRf m_w« m siief L1
(b), What are data protection and privaéy ?
w2 R R sl e
(¢ What is the difference between law
and ethics?
| i o ?;n%ama oS Ny e

(d) What is ethics for information
- services ? : :

% RIR IR e [e
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3. Answer any three of the following
questions : : 3><5—15

, ,wﬁmﬁmﬁﬁw@«%@aﬁm

(a) What are the various crimes
‘happening using computer ?

Wwﬁﬁs%ﬁ%ﬁwmﬁ“
AEdS @R

- (b) 'Wnte dlfferent types of cyber-attacks
ffen @ 51%13 SR R feran

. {c) Write about encryptlon and
: decryption.

m@ﬂmmﬁsﬁﬁwﬁmﬁw .

(d) Explain the difference between
. physical data security .and software-
based data secunty

T awt R s@mﬁsﬁw sﬁu"
R WS AL I 41

(e) What is electronic data interchange
(EDI) ? How does EDI work?

IR Ol TORGE (EDI) e ﬁm‘m
@S TN T2 ‘
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GROUP-E .

| S -

. Answer any three of the followmg
questions ¢ ' © . "10%3= 30'

wﬁmﬁmmf%ﬁ?fmwﬁm

What is information security ? What do
you understand by security and threats
in information security ? '

wwﬁs?wmﬁw@mwﬁsﬁm
ﬁ{eﬁﬁm |

.o What is the dlfference among encodmg,
encryption and hashing? -

ey RIS B @ﬁmmmﬁjﬁw

How to secure mformatlon process ? Also
give example.

_sauaﬁrrmmqgﬁwsﬁmmw
e -

What is F1rewall ? State the functlon of
Flrewall in e-commerce. .

Wﬁi?%ﬂﬁ“wmﬁmﬁ?
ot |
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8. How do you measure software security ?
Differentiate between Black Box Testmg
and White Box Testing. -

Wqﬁmw @?m?asqfikﬂ‘f @@
c%fﬁzmcﬂaﬁ?w @f@mmwﬁmmu\

9. .erte short notes on any two of the ;
’ followmg

&R/ et 5ol \'m“ §FB cﬁm T%rzn
(a) . Software- plracy

O SRR

- (b) Security standards

SR AR

(c)  E-wallet

. B0
(d) Spam
Y .
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. OPTION-C

( Web and E-commerce Technologies)

(@)

Paper : CSC-HG-4036

oL | Answef the following questions . 1x7=7
(@ What is WWW? | |
(b)) Whait is electronic fund transfer ?
(c) What‘. is Firewall?*
(d) 4',Wha't does ‘paperless bill ;méan ?
() . What is SSL? -
() What is hackmg?
(g) lee the full form of WAN.
" 2. Answer the followmg questlonS' 2x4=8
- (a) Write, any two activities of
- E-commerce.
. (b) leferentiate between G2B and G2C.
. (¢) Briefly describe the value exchange

system

Write down the role of mternet in

., - B2B application.

'3 fem - 4]CBCS} CSC HG 11243145, PC/TCA HO/RC/TT GG 14



3.

4.

Answer. the following questibns': (any
three) - . | 5x3=15

@
)
- domain.

" (g

(d)f

(e)

Write down the 'gidvéntages and

. disadvantages of 'E-commerce.

Describe the process of registering a-
Write down the strategies for
developing E-cbmmerce web sites.

Write down the PROS and CONS of
online shoppmg

What is computer virus ? How does -
it spread ? Write the measures taken

‘ for virus protection.

Answer any three  questions from the.
following : ' © - . 10%x3=30

(a)

o

Explain the various busmess models

in E-commerce

‘_Explai'n different types of threats of

E-commerce and the measures to be

~ taken to protect from thethreats.

3 - 0B CS H6 15, K R K15 Contd.



o) _Describe the statutery provisidns ‘
covering cyber defamation in India. .

(d) What is’internet. marketing ? Explain

- the internet. marketing ‘strategies.
What are the advantages of internet
marketing ?

(e) Discuss the opportunities and
challenges of E-commerce in India.

Xl Describe the various electronic
- payment systems. '

31540 O 6 S R AT B 16



'OPTION-D

( Computer System Architecture )

1. Aliswer the following Questioris ;o 1x7=7
(@) |

®)
2
(@

()

@

Paper CSC-HG-4Q46.

What is Boolean algebra ?

- What do you mean. by XOR gate ?
‘What is logic diagrami? = - ‘

What is stored in a program counter

PC)?

What is accimulator ?

‘What is instruction set ? |
Whét is flip-flop '?‘

2. Answer the follewing questions : 2x4=8

@

m

()

(@)

Differentiate between combinationai

- circuit and _sequential cir‘ctiit
State ‘duality . pnnmple Give

examples.

Name three types of computer
instructions used 1n a basrc
computer. :

What is instruction format ? Na'm'e_

: its three most common ‘fields.

3 (= 0808 O 6 /345, ReTCH By W17 Coritd.



é. . Answer the followmg questlons (any
-three) -,  Sx3=15
(a) Simplify the Boolean function -
" F(A,B,C,D)= 2(01358910131415)
by using K-map. °
(b) Explain how digital computer
represents the character. Also

. explain two types of such
. representation briefly.

(c) What is I/O interface ? What are thé
' needs for - usmg I/0 interface in .
. computer?

(d) How does the computer handle an
interrupt ? Explain it.

(e) Explain interrupt-initiated or
-interrupt-driven 1/O with the help of
a simple-diagram.

4. Answer the following questions : fany o
three) 10x3=30

(@) What are the five different logic gates

used for the design of digital circuit?

Give their logic symbols along with
truth table of each. - (1+1)x5=10

3 - 003 O 6 RJ31, REJTh EGIROITT RC)G 18



()
@
@

(e)

Explain briefly about any ﬁve

- different addressing modes that are
‘used by the computers.

What do you understand by machme
language ? Describe’ the basic concept .
of assembly language - 5+5=10 °

With the . help of a block dlagram,'

describe the components of a micro- . - "
. programmed control unit.

Draw the logic circuit along with truth
table or function table of the following :
5+5=10 -

._(i) "~ 3 - to — 8 line decoder

- i) SR or RS flip-flop

Define stack. Explain the stack
organization of a CPU by defining two
methods of its implementation. Draw a

dxagram showing the register stack.
2+5+3-10

3 - 0B U B 115045 ROTA BT R 19 . Contd.




OPTION -E
( Introduction to Database Management Systems )

Paper : CSC-HG-4056
TCA-HG/RC-4016
TIT-RC-4016

1. Answer the following questions as directed :
1x7=7

(a) Storing each logical data item in only
one place in the database is known as
data normalization. :

(State True or Fafse)
e YfevTae B2y YIS (ARIE data
normahzatlon CqleTl 27 | _
(8% @ Su% )

(b) Entity types that do not - have key
attributes of their own are called

., o AT (Fill in the blank)

fia" Entity © key attributes S
CRRARS ______ (@l |

(et 212 %79 70)
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()

(d)

e

-(9)

2nd Normal Form (2NF) is based on

functional dependency.
(Fill in the blank)

- 2nd Normal Form (2NF)

functional dependency I 5@ TiHife |

‘ (0571 212 79 1)

ERR stands for : _
' (Fill in the blank)
ERR (@ __ . Si_l\slﬁ]’@ A -
(T 312 979 70)

. command is used to create,

a new table in SQL. (Fill in the blank)

SQL ® —— command I729 IR Dicn
tMWWI_WﬁWW

Primary key can be NULL.
(State True or False)

Prirhary key 3 W NULL = AlE|
(3% (o T35 fF70)

Project is an operator in relational
algebra. . (State.True or False).

_ Project % relational algebra 3 5! 5167 |

- (I AT 999 F9)
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2 Define the following terms : 2x4=8
et fordlf 8

(a) Détabase

() DBMS

(c) Data independence

(d) Attribute

3. Answer any three of the following
~ questions : 5x3=15

Ricleat fofabr e[ Tea forat ¢

(a) Briefly explain the characteristics of
DBMS.

DBMS 3 @M@ ¢ |

(b) Differentiate between :

AILFI ferat ¢ _
(i) Strong éntity and weak entity

(i) Composite attribute and multi-
valued attribute

(c) What are meant by entity integrity and
referential integrity constraint ?

Entity integrity ®I< referential integrity
constraint @ & G2 ?
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(d) Define 1INF and 2NF.
INF 9% 2NF 9 7e@sl &2 |

() How to convert an ER diagram to
- relational schema ?

ER diagram 9 7l relational schema &

AL #lfFS SR o2
4. Answer any three of the following
questions : 10x3=30
fzsreat fofabr e Teq foal 8

(a) Explain the architecture of DBMS.

DBMS ZI#e[ 3¢ fa |

(b) What is a relationship type ? Explain
the differences among a relationship
instance, a relationship type and a
relationship set.

' Relationship type &2 relationship
instance, a relationship type W% a

relationship setd #ief@am & |

(¢) ~'What are the different types of SQL?
Explain any two with suitable
example.

SOL 3 R emeReaE e R 76! 4eRa
SQL 3 TARACeICa (10 90l 1 |
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(d) List the operations of relatlonal
algebra and the purpose of each. -
_ Relational algebra 3 [ wiffr ege
OIS ATOIRCT TR i |
(e) Is it possible to successfully map a
- binary M:N relationship type without

requiring a new relatlon ?. Justify your
answer.

@B} A9 relation W M:N
relationship map ¥R 'Pnﬁ'ci{ ? el
f St 11| |

1] Discuss inseftion, -deletion and
' modification anomalies. Why are they
considered bad ? Illustrate with
 examples.
Insertion, deletion, ®® modification
- anomalie @R SNEEHA 3 | AR By @
- g Rt 1 2 TAIRRCAR e 3 714
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